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print(np.dot(arrayl , array2))

[30 36 42]

print(array3 , '\n')
print(np.sort(array3 , axis=1) ,
print(np.sort(array3 , axis=80) ,
print(np.sort(array3 , axis=

pandas sS ages

df8 = pd.DataFrame({'Animal’': ['Falcon’, 'Falcon', 'Parrot', 'Parrot'],
'"Max Speed': [38@., 37@., 24., 26.]})

groupl = df8.groupby('Animal"').mean()

print(groupl, ‘\n")

group2 = df8.groupby('Animal"’).sum()

print(group2, '\n")

group3 = df8.groupby( 'Animal’).std()

print(group3, '\n")

group4 = df8.groupby( 'Animal').get_group('Falcon').mean()
print(group4)

:matplotlib 18" 4o



if we have more than 1 line, we can show it in 2 ways:

1) plt.plot(x,y ,'bo-' , x2,y2, 'g*--')

2) plt.plot(x,y ,
plt.plot(x2,y2 ,

plt.plot(x,y ,'bo:"’
plt.show()
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:seaborn sS a5ges

sns.catplot(x = "day" , y = "total_bill" , data = data)

<seaborn.axisgrid.FacetGrid at ex7fdc7825eeed>
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